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Geometry
Joining Midpoints of a Triangle
1. D is the midpoint of 
[image: image85.png]


 and B is the midpoint of 
[image: image2.wmf]AH
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a) If 
[image: image4.wmf]DB

= 12, find 
[image: image5.wmf]FH


b) If 
[image: image6.wmf]FH

 = 6, find 
[image: image7.wmf]DB


c) If 
[image: image8.wmf]AF

 = 2, find 
[image: image9.wmf]FD


d) If 
[image: image10.wmf]Ð

AHF = 109º, find 
[image: image11.wmf]Ð

ABD

2. D and E are midpoints of 
[image: image12.wmf]AB

 and 
[image: image13.wmf]BC

 respectively.
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a) If 
[image: image15.wmf]AC

= 36 and 
[image: image16.wmf]DE

 = x – 3, find the measure of 
[image: image17.wmf]DE

.

b) If
[image: image18.wmf]AC

= 2x + 6 and 
[image: image19.wmf]DE

 = 12, find the value of x.



3. In the diagram of [image: image20.png]MABC



 below, [image: image21.png]


, [image: image22.png]


, and [image: image23.png]16



.  Find the perimeter of the triangle formed by connecting the midpoints of the sides of [image: image24.png]MABC



.

[image: image25.png]16






4. In the diagram below of [image: image26.png]MNACT



, D is the midpoint of [image: image27.png]AC



, O is the midpoint of [image: image28.png]AT



, and G is the midpoint of [image: image29.png]


.

[image: image30.png]



If [image: image31.png]10



, [image: image32.png]


, and [image: image33.png]


, what is the perimeter of parallelogram CDOG?

	1)
	21
	3)
	32

	2)
	25
	4)
	40




5. In the diagram below, the vertices of [image: image34.png]MNDEF



 are the midpoints of the sides of equilateral triangle ABC, and the perimeter of [image: image35.png]MABC



 is 36 cm.

[image: image36.png]



What is the length, in centimeters, of [image: image37.png]B



?

	1)
	6

	2)
	12

	3)
	18

	4)
	4




6. In the diagram of [image: image38.png]MABC



 shown below, D is the midpoint of [image: image39.png]AB



, E is the midpoint of [image: image40.png]BC



, and F is the midpoint of [image: image41.png]AC



.

[image: image42.png]



If [image: image43.png]


, [image: image44.png]


, and [image: image45.png]16



, what is the perimeter of trapezoid ABEF?

	1)
	24

	2)
	36

	3)
	40

	4)
	44




7. In the diagram of [image: image46.png]AUV



 below, A is the midpoint of [image: image47.png]


, B is the midpoint of [image: image48.png]


, C is the midpoint of [image: image49.png]


, and [image: image50.png]


 and [image: image51.png]


 are drawn.

[image: image52.png]



If [image: image53.png]


 and [image: image54.png]


, what is the length of [image: image55.png]


?

	1)
	5

	2)
	13

	3)
	16

	4)
	32


[image: image1.wmf]FA



8. In [image: image56.png]


, D is the midpoint of [image: image57.png]


 and E is the midpoint of [image: image58.png]


.  If [image: image59.png]


 and [image: image60.png]


, what is the value of x?

	1)
	6

	2)
	7

	3)
	9

	4)
	12




9. Triangle ABC is shown in the diagram below.

If [image: image61.png]


 joins the midpoints of [image: image62.png]ADC



 and [image: image63.png]AEB



, which statement is not true?

	1)
	[image: image83.png]


[image: image64.png]DE= = CB





	2)
	[image: image65.png]DE || CB





	3)
	[image: image66.png]AD _ DE

DC ~ CB





	4)
	[image: image67.png]





10. In the diagram below, [image: image68.png]DE



 joins the midpoints of two sides of [image: image69.png]MABC



.
[image: image84.png]



Which statement is not true?

	1)
	[image: image70.png]cE

1
3B





	2)
	[image: image71.png]DE

1
748





	3)
	area of [image: image72.png]ACDE=



 area of [image: image73.png]MNCAB





	4)
	perimeter of [image: image74.png]ACDE=



 perimeter of [image: image75.png]MNCAB








11. In the diagram below of [image: image76.png]MABC



, D, E, and F are the midpoints of [image: image77.png]AB



, [image: image78.png]BC



, and [image: image79.png]cA



, respectively.

[image: image80.png]



What is the ratio of the area of [image: image81.png]MNCOFE



 to the area of [image: image82.png]MNCAB



?

	1)
	1:1
	3)
	1:3

	2)
	1:2
	4)
	1:4
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